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RFWIETAH5 | 1077 2 Wik =TH 2 | 15 I P Il o4 2 BT 47 28 B
RFPET+H5 | 1078 1 R =TH 2 | 13 X P DAl 4 7 BT 47 2 B
RFWET+H5 | 1078 2 Wik=TH 2 | 14 e P Il o4 2 BT 4 28 B
RFPEs-+ K5 | 1079 41 | 6 Wi T H 3 8 A OFL

RFPET757% | 1080 1 Sl Ut 1 2 e P sl o4 2 BT 47 28 B
RFPET+R5 | 1080 2 ST H 1| 15 X P DAl 4 2 BT 47 2 B
RFEHBF+<% [ 1080 3 YT H 1 5 o P X sl o4 2 BT 47 28 B
RFPET 5 | 1080 4 ST H 1 6 X P DAl 4 2 BT 47 2 B
KPP ET+757% 11080 5 SEy T A 1 7 e P DIl o4 2 BT 47 28 B
RFPET A+ 5 | 1080 6 ST H 1 8 X P DAl 4 7 BT 47 2 B
KRR BF+<%5 [ 1080 7 YT H 1| 1 e P Il o4 2 BT 47 28 B
RFPET+R5 | 1080 8 ST H 1 9 X P DAl S 2 BT 47 2 B
KPP ET+75%5 11080 9 SEy T A 1| 10 I P sl o4 2 BT 4 28 B
RFHPET+R%5 | 1080 10 ST H 1| 12 X P DAl S 7 BT 47 2 B
RFEHBF+75%5 [ 1080 11 YT H 1| 13 e P Il o4 2 BT 47 28 B
RFPPET -5 | 1080 12 ST H 1 3 X P DAl S 2 BT 47 2 B
RFPET+5 %5 | 1080 13 SEy T A 1 4 I P X sl o4 2 BT 4 28 B
RFYETHR5 | 1080] 14 ST H 1| 14 X P DAl 4 2 BT 47 2 B
RFPETR7% | 1082 1 SEy T A 1 1 I P X sl o4 2 BT 4 28 B
KW T+ 5 [ 1082 2 WM T H 4 2 DX TR B IS o 28 Y i
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KPP ET+757%5 11083 2 gy T A 9 1 e P Il o4 2 BT 4 28 B
Ry T+R5 1083 3 | 48 | 3 BT H 38 | 2 A OFL
RFREET+R%5 1083 4 | 46 | 5 2 S SI Ut 37 | 5 o

46 5 3 ST B 37 9
ReET+R5 1083 5 | 48 | 3 SEy T A 38 | 2 xS
KFEWEET+755 11083 12 | 46 | 5 1 iR T H 37 | 6
RFEPGETHR5 1083 13 | 47 | 12 gy T A 36 | 7
KRFPET+R5 | 1083 15 ST H 9 2 X P DAl S 2 BT 47 2 B
KPP T+ | 1083 [ 20 Sl Ut 4 | 49 P L XA b a3 H
RFPET N5 | 1083 21 ST H 9 6 X P DAl S 7 BT 47 2 B
KPP T+ | 1083 | 27 gy T A 9 3 o P X sl o4 2 BT 47 28 B
RFHET+HR5 1083 28 | 46 | 4 BT H 37 | 7 A OFL
RFPET+R 5 | 1083 29 1055555 2TAIC & 0 Tk
RFHET+HR5 1083 30 | 46 | 4 BT H 37 | 7 A OFL
RFPET5 7% | 1083 31 106555 2T & 0 Tk
RFEWEET+N5 1084 1 4 7 Kik=TH 30 | 5 P

47 | 16 3l Ut 36 3
RFYETHAR5 1084 2 | 47 | 10 BT H 36 | 16 A OFL
RFPET+-R %5 | 1084 3 105555 2T & 0 Tk
RFPETHARE 1084 4 | 47 | 4 BT H 36 | 5 A OFL
RFPET+R %5 | 1084 5 105555 2T & 0 Tk
RFYET+HR5 1084 6 | 47 | 10 BT H 36 | 16 A OFL
Ry s+R5 1084 7 | 37 | 1 Sl Ut 7 1 B OFH
KRydiEs+R5 1084 8 | 37 | 1 BT H 7 1 A L
K7 ET+HR%5 1084 9 | 37 | 1 gy T A 7 1 B OFH
KPS/ | 1084 10 IEH 1065552501 & V) THIK
RFPETR75 | 1084 11 106555 2T & 0 Tk
RFETHR5 1085 1 | 47 | 2 BT H 36 | 6 A OFL
KT T +R%5 1085 2 | 48 | 3 gy T A 38 | 2 B OFH
KT +5 11085 3 | 48 | 5 iR T H 38 | 4
R ET+HR5 1085 4 | 37 | 36 SEy T A 7 2
KFEWEET+N5 1085 5 | 47 | 7 iR T H 36 | 4 P

48 4 ST B 38 3
KFEWEET+5 11086 1 | 46 | 2 iR T H 37 | 4
KT ET+HR%5 1086 2 | 48 | 3 SEy T A 38 | 2 B OFH
RFYETHARE 1087 1 | 47 | 2 BT H 36 | 6 A OFL
R ET+75% 11087 3 SEy T A 4 | 48 PR XA b a3 H
RFPPET+R5 | 1088 5 ST H 9 4 X P DAl 4 2 BT 47 2 B
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RFPET+R5 [ 1105 3 ST H 40 | 2 X P DAl 4 2 BT 47 2 B
R T+5% | 1105 7 SEy T A 40 | 1 I P sl o4 2 BT 4 28 B
RFETHR5 [ 1146 2 ST H 9 9 X P DAl 4 7 BT 47 2 B
RFWETAR% | 1147 3 gy T A 40 | 6 e P Il o4 2 BT 47 28 B
RFPEET N5 | 1148 1 ST H 40 | 5 X P DAl 4 2 BT 47 2 B
RFBIEFA/R 05 | 1149 Sl Ut 40 | 4 T P Il o4 2 BT 4 28 B
KPR TR | 1150 ST H 40 | 3 X P DAl 4 2 BT 47 2 B
R4/ | 1151 gy T A 40 | 9 e P X Il o 2 BT 4 28 B
RFPET N5 | 1152 1 ST H 40 | 8 X P Al S 7 BT 47 2 B
RFWTAR%5 | 11652 2 S SI Ut 40 | 7 e P X Il o4 2 BT 47 28 B
RyPET+HAR5 1153 1 | 49 | 1 BT H 39 | 2 A OFL

KT ETHAR5 1153 2 | 49 | 1 Sl Ut 39 | 2 B OFH
RyYET+HARE [ 1154 1 | 48 | 1 BT H 38| 5 A OFL
RERBF+R75 [ 1154 2 T H 9 7 I P X Il o4 2 BT 47 28 B
RFIET+ 7575 | 1155 48 | 1 BT H 38| 5 A OFL
RFPEF+ N5 | 1156 48 | 1 gy T A 38| 5 Xz
RFYfs=+ K5 | 1157 48 | 2 iR T H 38 | 1

ReYgET+AR5 1158 1 | 46 | 3 SEy T A 37 | 8

RFPEET N5 | 1159 1 ST H 35 | 10 X P DAl 4 2 BT 47 2 B
RFPETHR5 1159 2 | 51 | 10 Sl Ut 35 | 4 B OFH
RFPET+R5 [ 1159 3 ST H 35 | 11 X P DAl 4 2 BT 47 2 B
RFRET+HAR5 | 1159 4 | 51 | 3 gy T A 35 | 14 B OFH

KRy s+R5 1159 5 | 51 | 3 BT H 35 | 14 A OFL

KT ETHR%5 1159 6 | 51 | 10 SEy T A 35 | 4 B OH
RyYET+R5 1159 7 | 51 | 10 BT H 35 | 4 A OFL
RFPEF+R5 | 1159 51 | 2 gy T A 35 | 13 Xz
RFET+HARE 1159 9 | 51 | 2 BT H 35 | 13 A OFL
RFPETHR5 | 1159 10 | 51 | 2 SEy T A 35 | 13 B OH
RFPETHAR5 | 1159 11 | 51 | 2 BT H 35 | 13 A OFL
RFPETR%5 [ 1159 12 105555 2T & 0 Tk
RFYET+R5 1159 13 | 51 | 10 BT H 35 | 4 A OFL

KT ETHR5 | 1159 14 | 51 | 10 SEy T A 35 | 4 B OH
RFPET+HAR5 1159 15 | 51 | 9 BT H 35 | 3 A OFL
RFPET+R 5 | 1160 51 | 10 SEy T A 35 | 4 B OFH

KPR T+ | 1161 51 | 9 BT H 35 | 3 A OFL
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RFPETR 5 | 1162 51 | 9 gy T A 35 | 3 B OH
KPR T+ 575 | 1163 51 | 9 BT H 35 | 3 A OFL
RedgET+AR5 1164 1 | 51 | 9 S SI Ut 35 | 3 Xz
RPN 5 | 1164 2 IEH 1065552501 & V) THIK
RFPET+R%5 [ 1164 3 106555 2T & 0 Tk
Ry s+R5 1165 1 | 41 | 1 BT H 3 1 A OFL
RedgeT+R5 1165 2 | 41 | 1 gy T A 3 1 Xz
RFRis1/57% | 1165 3 L1065 552501 & V) TH I
RFPEF+R 5 | 1166 41 | 1 Sl Ut 3 1 Xz
KRy T+HR5 1166 2 | 47 | 4 BT H 36 | 5 A OFL
RFPET+R% [ 1166 3 105555 2T & 0 Tk
RFWRET1R5 | 1166 4 IEH 1065552501 & V) THIK
RFPEF+R5 | 1167 41 | 1 S SI Ut 3 1 xS
Ky st+Re 1168 1 | 51 | 9 BT H 35 | 3 A OFL
RFPETR%5 [ 1168 2 106555 2T & 0 Tk
RFRis157% | 1168 3 L1065 552501 & V) TH Ik
RedgET+AR5 1168 4 | 54 | 7 1 gy T A 32| 5
KT+ E (1168 5 | 54 | 7 2 SRl T H 32 | 4
RedgET+AR5 1169 1 | 51 | 9 gy T A 35 | 3 Xz
RFPRET1R5 | 1169 2 L1065 552501 & V) THIK
RedgET+AR5 1170 1 | 51 | 9 SEy T A 35 | 3 Xz
KRy T+HAR5 1170 2 | 41 | 3 BT H 3 3 A OFL
RFPEs+-% [ 1170 3 10655 2T & 0 Tk
R4 | 1170 4 L1065 552501 & V) THIK
RedgET+AR5 1170 5 | 42 | 8 gy T A 5 6 Xz
Ry s+R5 11701 6 | 51 | 10 BT H 35 | 4 A OFL
RFPET+R%5 [ 1170 7 106555 2T & 0 Tk
RFPRiEs157% | 1170 8 L1065 552501 & V) THIK
RFPET+R%5 [ 1170 9 TEHE 1060552551 & 0 19
RFPET+R%5 | 1170 10 L1065 552501 & V) TH I
RFREETHR5 | 1170 11 | 46 | 7 SEy T A 37| 1 B OFH
KFEWETHRE | 1171 1 | 43 | 2 iR T H 2 1 P

43 7 ST B 2 7
Ry s+HR5 1171 2 | 46 | 1 BT H 37 | 3 A OFL
RFPEs+R%5 [ 1171 3 105555 2T & 0 Tk
RFEWEETAR5 | 1171 4 IEH 1065552501 & V) THIK
RFPET+R%5 [ 1171 5 A 10650552101 L 1 TH I
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42 | 12 BT A 5 4
RedgeT+Ra 1172 2 | 46 | 1 S SI Ut 37 | 3 Xz
ReRis1R5 | 1172 3 IEH 1065552501 & V) THIK
RFPETR05 | 1172 4 106555 2T & 0 Tk
RS 5 | 1172 5 L1065 552501 & V) THIK
RFPEF+R5 | 1173 51 | 10 gy T A 35 | 4 Xz
RFIEETAR7 | 1174 43 | 6 BT H 2 6 A OFL
REPET+HAR5 1175 1 | 43 | 6 Sl Ut 2 6 Xz
RPN 5 | 1175 2 IEH 1065552501 & V) THIK
RFPEs+R% [ 1175 3 105555 2T & 0 Tk
KW+ e 1176 1 | 43 | 4 SRl T H 2 5 P

41 4 3l Ut 3 4
KRFPET+HAR5 1176 2 | 43 | 6 BT H 2 6 A OFL
RFPEs+-%5 [ 1176 3 106555 2T & 0 Tk
RFPs-+R 5 | 1177 43 | 3 iR T H 2 3
RESGETHAR5 | 1177 2 | 41 | 2 gy T A 3 2 Xz
RFIREETA/R 7 | 1178 43 | 6 BT H 2 6 A OFL
RESGETHAR5 1179 1 | 41 | 10 S SI Ut 3 5
KT+ e 1179 2 | 37 | 7 1 iR T H 7| 23
RedgET+AR5 1179 3 | 37 | 7 2 SEy T A 7 6
RFPET+HAR5 | 1180 1 | 41 | 2 BT H 3 2 A OFL
RedgET+AR5 1180 2 | 41 | 3 Sl Ut 3 3 Xz
RFPfs=1R 75 | 1181 53 | 3 iR T H 33 2 P

52 4 ST B 34 4
RFIETA 7575 | 1182 ST H 40 | 10 X P DAl S 2 BT 47 2 B
RFPET+R %5 | 1183 67 | 5 SEy T A 35 | 7
Ky s+t5 | 1181 2 | 53 | 2 BT H 33| 5 A OFL
Kedes+ts 84| 1 | 53 | 1 gy T A 33 | 1 Xz
Ky st+t5 1184 2 | 53 | 1 BT H 33 | 1 A OFL
KRPes+t 5 [ 1184 3 105555 2T & 0 Tk
Rediest-t5 | 1184 4 L1065 552501 & V) THIK
Kedes+ts 185 1 | 53 | 1 Sl Ut 33 | 1 Xz
Rediest-t5 | 1185 2 IEH 1065552501 & V) THIK
RPess+t 5 [ 1185 3 105555 2T & 0 Tk
KT +t5 | 1186 1 4 2 R =TH 30 | 2 A OFL
Kedes+ts 1186 2 | 53 | 1 SEy T A 33 | 1 Xz
Rediest-t5 | 1186 3 L1065 552501 & V) THIK
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RFPes+t | 1186 4 A 106508525012 I 1 TH I
KT +t5 [ 1186 5 L1065 552501 & V) THIK
Kedes+ts 87| 1 | 60 | 1 S SI Ut 24 | 4 Xz
Ky s+t5 | 1187 2 | 67 | 2 BT H 35 | 6 A OFfL
RKPges+t 5 [ 1187 3 106555 2T & 0 Tk
KR T+t5 | 1187 4 IR 105585 21HIZ LV THIK
RPess+t 5 [ 1187 5 IESB 10650552101 L 1 TH I
K r+t= | 1188 1 38| 5 1 PP T H 6 10
KedgeT+ts 1188 2 | 38 | 5 2 Sl Ut 6 9 Xz
Ky s+t5 1189 1 | 67 | 2 BT H 35 | 6 A OFL
Redes+ts 1189 2 | 60 | 1 gy T A 24 | 4 Xz
Reedriest-t5 | 1189 3 IEH 1065552501 & V) THIK
RFPET+t5 | 1189 4 1055555 2TAIC & 0 Tk
KT +t5 [ 1189 5 L1065 552501 & V) THIK
RFPET+t 5 | 1190 60 | 2 Sl Ut 24 | 5 o

52 3 ST B 34 3
KedeT+ts 1190 2 | 53 | 2 gy T A 33| 5 Xz
Ky s+t5 1190 3 | 53 | 2 BT H 33| 5 A OFL
RFPEs+t5 | 1190 4 105555 2T & 0 Tk
Rediest-t5 | 1190 5 L1065 552501 & V) THIK
Kyges+ta 91| 1 | 67 | 1 SEy T A 35 | 5
Ky st+t5 1191 2 | 53 | 1 BT H 33 | 1 A OFL
Kges+t 5 [ 1191 3 10655 2T & 0 Tk
Rediest-t5 | 1191 4 L1065 552501 & V) THIK
RPes+t 5 [ 1191 5 TEHE 1060552251 & 0 1
RFET+t5 [ 1191 6 IEH 1065552501 & V) THIK
Redges+ts 1192 1 | 52 | 6 SEy T A 34 | 1 Xz
Ky s+t5 1192 2 | 38| 6 BT H 6 3 A OFL
KRedgeT+ts 1192 3 | 38 | 6 gy T A 6 3 Xz
K r+t5 1193 1 38| 7 PP T H 6 8
Kedes+t5 1193 2 | 53 | 1 SEy T A 33 | 1 Xz
Rediest-t5 | 1193 3 L1065 552501 & V) THIK
RFPes+t5 | 1193 4 105555 2T & 0 Tk
KT +t5 [ 1193 5 IEH 1065552501 & V) THIK
Ky s++t5 1193 6 | 60 | 3 SEy T A 24 | 6
KR Ts+t5 (1193 7 4 4 1 Kik=TH 30 | 26
RFEWiET+tL5 | 1193 8 4 4 2 Wik=TH 30 | 25
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Ry s+t5 [ 1194 1 | 41 | 11 gy T A 3 6
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38 2 3l Ut 6 12
Redriest-t5 | 1194 2 IEH 1065552501 & V) THIK
KedieT+ts 1195 1 | 42 | 8 SEy T A 5 6 Xz
Rediest-t5 | 1195 2 L1065 552501 & V) THIK
RedeT+ts 1196 1 | 42 | 6 gy T A 5 5 Xz
Ky s+t5 1196 2 | 42 | 6 BT H 5 5 A OFL
Redges+ts 1197 1 | 41 | 7 Sl Ut 3 9 Xz
Ky s+ts 1197 2 | 41 | 7 BT H 3 9 A L
Kedes+ta 1198 1 | 40 | 2 gy T A 8 1 Xz
Ky s+t5 1198 2 | 40 | 2 BT H 8 1 A OFfL
KedgeT+ts 1198 3 | 42 | 8 S SI Ut 5 6 xS
R st-t5 | 1198 4 L1065 552501 & V) THIK
KedeT+ts 1198 5 | 41 | 7 Sl Ut 3 9 Xz
Rediest-t5 | 1198 6 L1065 552501 & V) TH Ik
KedgeT+tas 1198 7 | 41 | 7 gy T A 3 9 Xz
Rediest-t5 | 1198 8 L1065 552501 & V) TH Ik
RedgeT+ts 1198 9 | 42 | 8 gy T A 5 6 Xz
Kyyimes+t5 1198 10 | 41 | 7 BT H 3 9 A OFL
RedgeT+ts | 1198 11 | 41 | 7 SEy T A 3 9 Xz
Ky s+t5 1198 12 | 42 | 10 PRl T H 5 | 10
RFPET+t 5 | 1199 34 | 3 Sl Ut 12 | 20
KRR T+t7 | 1200 37 | 13 BT H 7| 1 A OFL
RFPET+t5 | 1201 37 | 13 gy T A 7| 1 Xz
KT +t5 | 1202 1 4 2 R =TH 30 | 2 A OFfL
RedeT+ta 1202 2 | 46 | 7 SEy T A 37 | 1 Xz
KERET+Ht5 1203 1 [ 51| 2 1 Kik=TH 31 | 5
RedieT+ts 1203 2 | 5-1] 2 2 Wik=TH 31 | 14
KR s+t5 (1203 3 [ 51| 2 3 Kik=TH 31 | 15
RFPET+L75 | 1204 1 4 1 Wik=TH 30 | 1 B OFH
RFET+t5 | 1204 2 4 1 RE=TH 30 | 1 A OFL
KPesst+t 5 | 1204 3 4 9 Wik =TH 30 | 6
Ky st+t5 1204 4 | 38| 5 2 BT H 6 9 A OFfL
RFPET+-t %5 | 1205 37 | 13 SEy T A 7| 1 Xz
R T+t7 | 1206 37 | 13 BT H 7| 1 A OFL
KedeT+ts 1207 1 | 46 | 7 SEy T A 37 | 1 Xz
Ky s+t5 1207 2 | 21| 3 R =TH 14 | 3 A OFL
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RFPEs-+-t5 | 1208 46 | 1 gy T A 37 | 3 Xz
KRR T+t7 | 1209 46 | 1 BT H 37 | 3 A OFL
RFPET+-t5 | 1210 46 | 1 S SI Ut 37 | 3 Xz
R+t | 1211 46 | 1 BT H 37 | 3 A OFfL
RFPET+t5 | 1212 46 | 1 SEy T A 37 | 3 xS

R T+t7 | 1213 46 | 1 BT H 37 | 3 A OFL
RFPET+t5 | 1214 36 | 25 gy T A 1| 3 Xz

R T++t7 | 1215 36 | 25 BT H 1| 3 A OFL
Ky s++t5 | 1216] 1 | 36 | 25 Sl Ut 1| 3 xS

K s+t5 | 1216 2 4 10 Wik =TH 30 | 7

KRewims+ta 1217 1 [ 52| 1 Wik =TH 6 | 41

KRy s+ts [ 1217 2 4 | 11 RE=TH 30 | 20 A OFL
Ky s+t5 1217 3 | 52| 4 Wik =TH 6 | 44

KRy s+t5 | 1217 4 4 | 11 RiE=TH 30 | 20 A OFfL
RPest+t 5 [ 1217 5 4 | 12 Wik =TH 30 | 21

K s+t5 1217 6 4 13 ik =TH 30 1 9

KT+t 5 | 1218 36 | 25 gy T A 1| 3 xS

R T+t7 | 1219 36 | 25 BT H 1| 3 A OFL
KPR+t 5 | 1220 36 | 25 S SI Ut 1| 3 B OFH
R+t | 1221 36 | 25 BT H 1| 3 A OFL
Ky s+ts 1222 1 | 14| 2 Wik=TH 12 | 11 B OFH
Ky s+ts 1222 2 | 14| 2 RE=TH 12 | 11 A OFL
KT+t %5 | 1223 36 | 25 Sl Ut 1| 3 B OFH
KRy st+t5 1224 1 | 51 | 10 BT H 35 | 4 A OFL
RedeT+ta 1224 2 | 37 | 15 gy T A 7| 13

Kpmr+ta 1224 3 | 37 | 3 PPl T H 7 4

RFPET -+t | 1224 4 TEHE955:B6HIT K 0 THIK
Ryttt | 1224 5 L9 FE6IHIC & 0 4R
RFEHFRTHL5 | 1224] 6 IEHI5SRF6IHIC K 0 {HIk
Rediest-tia | 1224 7 IEEB95 R B0 I & 0 4K
Ry s+t5 | 1224 8 | 38 | 12 SEy T A 6 6

Ry st+t5 1224 9 | 38 | 13 BT H 6 7 A OFL
Redes+ts 1224 11 | 59 | 1 Sl Ut 27 | 1

Ky s+t5 1224 12 | 37 | 20 PRl T H 71 19

RedeT+t5 1224 13 | 37 | 21 SEy T A 7 | 20

Kpmr+ta 1224 14 | 37 | 23 PPl T H T 21

Ry s+t5 | 1224 15 | 37 | 26 SEy T A 7| 22 B OFH
KRy st+t5 | 1224 16 | 37 | 26 BT H 7| 22 A OFL
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KR s+t5 1224 21 | 37 | 4 iR T H 7| 27
KRedes+ta 1224 22 | 63 | 1 WA T H 1 8 Xz
Kpmr+ta 1224 23 | 37 | 5 PPl T H 7 5
Ky s+t5 | 1224 24 | 37 | 9 gy T A 7 8
Kegr+t= 1224 26 | 38 | 8 PP T H 6 4
Ry T+t5 | 1224 27 | 38 | 10 Sl Ut 6 5
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RPes+t 5 | 1226 2 106555 2T & 0 Tk
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Ky s+t5 12291 1 | 60 | 5 gy T A 24 | 7
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Ky s+ts 1229 3 | 52 | 7 SEy T A 34 | 7
KERET+H+t5 1229 4 4 5 1 Kik=TH 30 | 18
RPes+t 5 [ 1229 5 4 5 2 Wik =TH 30 | 19
R T+t75 | 1230 4 2 RE=TH 30 | 2 Nz S
RPes+t 5 | 1230 2 4 1 Wik =TH 30 | 1 B OH
Ky s+t5 1230 3 | 59 | 5 iR T H 27 | 8
KedeT+ts 1231 1 | 54 | 16 | 1-1 SEy T A 32 | 11
KR s+t5 1231 2 | 54 | 16 | 1-2 PRl T H 32 | 26
Kedes+ts 1231 3 | 54 | 16 | 1-3 gy T A 32 | 27
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36 | 21 3l Ut 1] 9 53 EIH
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RedeT+ts 1233 1 | 36 | 26 Sl Ut 1| 2
KR s+t5 1233 2 | 14 | 7 Kik=TH 12 | 8
RedeT+ts 1233 3 | 54 | 16 | 2-1 SEy T A 32 | 13
KR s+t5 1233 4 | 54 | 16 | 2-2 PRl T H 32 | 12
KedeT+ts 1233 5 | 54 | 16 | 2-3 SEy T A 32 | 14
Ky s+t5 (1233 6 | 54 | 16 | 24 PRl T H 32 | 15
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Ky s+t5 1246 2 | 21 | 15 Kik=TH 14 | 24 P
21 | 36 Wi ="TH 14 | 52
RS T+t7 | 1247 33 | 17 ST H 131 3 A OFL
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RFESIRF+ I | 1446 12 W T H 2 | 13 o P DIl o4 2 BT 47 28 B
KRFPET+HI5 | 1446 15 W T H 2 | 14 X P DAl 4 2 BT 47 2 B
RFWETFAIuE | 1447 2 WA T H 9 3 e P DIl o4 2 BT 47 28 B
KW ET+HIE | 1447 3 Wi+t TH 4 | 34 X[ R X I sk 2 A P i
RFWiETF+Ius | 1447 7 WA T H 9 4 I P Il o4 2 BT 47 28 B
RFPET+HIus | 1447 8 Wi T H 2 | 16 X P DAl 4 2 BT 47 2 B
RFWET+Ius | 1469 6 WA T H 9 6 I P DIl o4 2 BT 4 28 B
RFPET+HIs | 1469 7 Wi T H 9 5 X P DAl S 7 BT 47 2 B
RFWETF+Iu | 1469 15 WA T H 9 7 o P X sl o4 2 BT 47 28 B
REis —+t%5[ 1951 1 FHEERMT H 32 | 2 DR BE X o4 & M4 28 B
KFPT =+t 1951 4 FHERMNTH 32 | 3 PR R I o) 2 BT 4 28 B
R ies — 151951 7 FHEERMT H 32 | 5 D RS B X o A M4 28 B
KFPIETF 65| 1951 8 FHERMTH 32| 4 e P Il o4 2 BT 47 28 B
R — 4+t 5[ 1951 9 FHEERMT H 32| 6 DR BE X o A M4 28 B
KFPITF =+ =4 2543 FHELA—TH 25 | 2 e P X Il o4 2 BT 4 28 B
RFPIET =105 2610 R —TH 25 | 18 DR B X o & M4 28 B
RFEHRIEF =45 2610 3 H¥ER—TH 25 | 20 [>T XA A e D 3
RS iEF =405 2611 1 FHHEE—TH 25 | 16 DI S BE X op A M4 28 B
KFHET = | 2611 2 FHEA—TH | 25 | 15 | RESEHEXEI AL L E
RS ieF =+ 5| 2611 3 R —TH 25 | 14 DR BE X o A M4 28 B
RFWEF=+M5] 2611 4 H¥ER—TH 25 | 13 X B Dl S 2 BT 47 28
R EF =+ %5| 2611 5 R —TH 25 | 12 DR BE X o4 & M4 28 B
RFWETFT =45 2611 6 H¥ER—TH 25 [ 11 X B Dl S 2 BT 47 28
R EF =+ 5| 2611 7 FHHEE—TH 25 | 10 D RS B X o A M4 28 B
RFHIEF =+ 5| 2611 8 HELE—TH 25 | 9 I P sl o4 2 BT 4 28 B
R EF =+ %5| 2611 9 HHEL—TH 25 | 8 X P DAl S 7 BT 47 2 B
RFWETF =+ 5| 2611 10 H¥ER—TH 25 | 17 X0 5 B Il o4 A 4% 28 B
REFESIEF=+U5| 2611 11 R —TH 25 | 19 DX TR B IS 2 28 Y i
JemE =] 2612 2 A —TH 25 | 4 PR B I A4 2 BT 4 28 B
R iEs =+ 5| 2612 3 HHEL—TH 25 | 5 X P DAl S 7 BT 47 2 B
KFPIT =+ 2612 4 R —TH 25 | 3 PR R I A4 2 BT 4 28 B
R is =+ 5| 2612 5 HHEE—TH 25 | 7 X P DAl S 2 BT 47 2 B
KFPIETF =+ 4| 2615 FHELA—TH 25 | 6 e P DX sl o4 2 BT 4 28 B

Kik=TH 4 | 169 |IEEE1055551THIC L YV FT A HENR:

Wik=TH 4 | 170 |IEE5106R53HIC XLV BT A HET

Kik=TH 4 | 171 |IEBB1055 553 HIC L Y FT A HE
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|H T 2 ) FE 3%

H H13E R AL Hr .
WT4 SUT54n | M | B | B | il [ A% | T4 Uds4n | i | A&
WIE=TH 4 | 172 [IEFB1055EIEIC &V Fr A Helm
Wik =TH 4 | 173 |15 1055: 53 HIC X 0 T HEIR
Wi =TH 4 | 174 [1EHE1065EE3HEIC L A HElm
Wik =TH 4 | 175 [IE5E 105553 HIC X 0 T HEIR
WIE=TH 4 | 176 [IEEB1055EIEIC &V Fr A HEm
Wik =TH 4 | 177 |15 105553 HIC XV T HENR
Wi =TH 4 | 178 [1EHE1065EE3HIC LV A tEm
ik =TH 4 | 179 [ 15105553 HIC XV T HEIR
WIE=TH 4 | 180 [IEFB1055E3HIC & v Fr A HEm
Wik =TH 4 | 181 [1E5E1055: 53 HIC X T HEIR
W =TH 4 | 182 [1EHE1065EE3HIC LV A HEm
Wi =TH 4 | 183 [IE5E 105553 HIC X T HENR
W =TH 4 | 184 [1EHE1065EE3HIC LV A HEm
Wik =TH 4 | 185 [IEEE1055: 53 HIC X 0 T HENR
WE=TH 4 | 186 [IEFE1055EEIHIC &V Fr A HElm
ik =TH 4 | 187 [ 1B 105553 HIC XV T HEIR
Wi =TH 4 | 188 [{BHE1065EE3HIC LV A HEm
Wi =TH 4 | 189 1B 105553 HIC X 0 T HENR
WIE=TH 4 | 190 [IEFB10553HIC &V Fr A HElm
Wik =TH 4 | 191 [E51055: 53 HIC X T HEIR
Wi =TH 4 | 192 [{EHE1065E3 I L AR
Wik =TH 4 | 193 [ 1B 105553 HIC XV T HEIR
Wi =TH 4 | 194 [1EHE1065E3HIC L A HElm
Wik =TH 4 | 195 [1E51055: 53 HIC X 0 T HENR
W= TH 4 | 196 [1EFL1055FIHIC LV PratEiw)E
14| 9 WiE=TH 12 | 12 PRETH
66 1 Wi ="TH 12 | 13 SRl
66 | 2 WiE=TH 12 | 14 Pred
21 1 Wi ="TH 4| 1 SRl
21 | 5 WiE=TH 14 | 26 Pred
22-1| 9 Wi ="TH 15 1 SRl
22-1| 8 SE=TH 15| 2 PR
22-1| 7 Wi ="TH 15| 3 SRl
22-1| 6 SE=TH 15| 4 PR
22-1| 15 W% =T H 16 [ 1 PR
22-1| 14 SE=TH 16| 2 PR
22-1| 13 Wi ="TH 16| 3 SRl
22-1] 12 SE=TH 16 | 4 PRBE
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[T b2 5 R 3

[0 % Rt B .
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
22-1| 11 Wi ="TH 16| 5 SRl
22-1] 10 SE=TH 16| 6 PR
22-1| 16 Wi ="TH 17 1 SRl
22-1| 17 SE=TH 171 2 PRBE
22-1| 18 Wi ="TH 17| 3 SRl
22-1] 19 SE=TH 17 | 4 PRBE
22-1| 20 Wi ="TH 17| 5 SRl
22-1[ 21 Kik=TH 17 ] 6 Pred
22-1| 22 Wi ="TH 7| 7 SRl
22-1| 23 SE=TH 17| 8 PRBE
22-1| 24 Wi ="TH 17| 9 ESEpel
22-1| 25 Kik=TH 17 | 10 Pred
22-1| 26 Wi ="TH 17| 11 SRl
22-1| 27 Kik=TH 17 | 12 Pred
17 | 13 Wi ="TH 18 1 SRl
17 | 14 Kik=TH 18] 2 Pred
17 | 15 Wi ="TH 18 3 SRl
17 | 16 Kik=TH 18 | 4 Pred
17 | 17 Wi ="TH 18| 5 SRl
17 | 18 Kik=TH 18] 6 Pred
17 | 19 Wi ="TH 8| 7 SRl
17 | 20 Kik=TH 18| 8 Pred
17 | 21 Wi ="TH 81 9 SRl
17 | 22 Kik=TH 18 | 10 Pred
17 | 23 Wi ="TH 18 | 11 ESEpel
17| 1 Kik=TH 18 | 12 Pred
17 | 2 Wi ="TH 18 | 13 SRl
17 | 3 Kik=TH 18 | 14 Pred
17 | 4 Wi ="TH 18 | 15 SRl
17| 5 Kik=TH 18 | 16 Pred
17 | 6 Wi ="TH 18 | 17 SRl
I Kik=TH 18 | 18 Pred
17 Wi ="TH 18 | 19 SRl
171 9 Kik=TH 18 | 20 Pred
17 | 10 Wi ="TH 18 | 21 SRl
17 | 11 Kik=TH 18 | 22 Pred
17 | 12 Wi ="TH 18 | 23 SRl
19| 6 Kik=TH 9] 1 Pred
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[0 % Rt B .
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
19 | 7 Wi ="TH 9] 2 SRl
19 | 8 Kik=TH 191 3 Pred
19 ] 9 Wi ="TH 19 | 4 SRl
19 | 10 Kik=TH 19 ] 5 Pred
19 1 Wi ="TH 9] 6 SRl
19 2 Kik=TH 19| 7 Pred
19 | 3 Wi ="TH 19 8 SRl
19 | 4 Kik=TH 191 9 Pred
19| 5 Wi ="TH 19 | 10 SRl
15| 4 Kik=TH 20 | 6 Pred
5] 9 Wi ="TH 20 | 7 ESEpel
16 | 24 Kik=TH 21 | 9 Pred
16 | 23 Wi ="TH 21 | 10 SRl
16 | 22 Kik=TH 21 | 11 Pred
16 | 21 Wi ="TH 21 | 12 SRl
16 | 10 Kik=TH 21 | 18 Pred
82| 12 Wi ="TH 23 1 SRl
8-2 | 11 SE=TH 23 | 2 PRBE
8-2 ] 13 Wi ="TH 23 | 3 SRl
82| 14 Kik=TH 23 | 4 Pred
82| 15 Wi ="TH 23 | 5 SRl
82| 16 Kik=TH 23 | 6 Pred
82| 17 Wi ="TH 23 | 7 SRl
82| 18 Kik=TH 23 | 8 Pred
821 19 Wi ="TH 23 |1 9 ESEpel
8-2 | 20 Kik=TH 23 | 10 Pred
8-2 | 21 Wi ="TH 23 | 11 SRl
8-2 | 22 SE=TH 23 | 12 PRBE
8-2 | 23 Wi ="TH 23 | 13 SRl
82| 1 Kik=TH 23 | 14 Pred
82| 2 Wi ="TH 23 | 15 SRl
82| 3 Kik=TH 23 | 16 Pred
82| 4 Wi ="TH 23 | 17 SRl
82| 5 Kik=TH 23 | 18 Pred
82| 6 Wi ="TH 23 | 19 SRl
82| 7 SE=TH 23 | 20 PR
8-2 Wi ="TH 23 | 21 SRl
82| 9 Kik=TH 23 | 22 Pred
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[0 % Rt B .
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
8-2 ] 10 Wi ="TH 23 | 23 SRl
72| 1 Kik=TH 24 | 1 Pred
72| 2 Wi ="TH 24 | 2 SRl
-1 1 1 Kik=TH 25 | 1 Pred
-1 1 2 Wi ="TH 25 | 2 SRl
-1 1 3 Kik=TH 25 | 3 Pred
-1 1 4 Wi ="TH 25 | 4 SRl
-1 1 5 SE=TH 25 | 5 PR
-1 1 6 Wi ="TH 25 | 6 SRl
-1 1 7 Kik=TH 25 | 7 Pred
-1 1 Wi ="TH 25 | 8 ESEpel
-1 1 9 Kik=TH 25 | 9 Pred
-1 1 10 Wi ="TH 25 | 10 SRl
-1 1 | 11 SE=TH 25 | 11 PR
-1 1 12 Wi ="TH 25 | 12 SRl
-1 1 13 Kik=TH 25 | 13 Pred
-1 1 14 Wi ="TH 25 | 14 SRl
-1 1 15 Kik=TH 25 | 15 Pred
7-1| 4 1 Wi ="TH 25 | 19 SRl
-1 4 2 Kik=TH 25 | 20 Pred
7-1| 4 3 Wi ="TH 25 | 21 SRl
-1 4 4 Kik=TH 25 | 22 Pred
7-1| 4 5 Wi ="TH 25 | 23 SRl
-1 4 6 Kik=TH 25 | 24 Pred
7-1| 4 7 Wi ="TH 25 | 25 ESEpel
-1 4 8 Kik=TH 25 | 26 Pred
7-1| 5 Wi ="TH 25 | 27 SRl
8-1| 6 Kik=TH 26 | 1 Pred
8-1] 7 Wi ="TH 26 | 2 SRl
8-1| 8 Kik=TH 26 | 3 Pred
8-1] 9 Wi ="TH 26 | 4 SRl
8-1] 10 SE=TH 26 | 5 PR
8-1] 11 Wi ="TH 26 | 6 SRl
81| 1 Kik=TH 26 | 7 Pred
8-1] 2 Wi ="TH 26 | 8 SRl
8-1| 3 Kik=TH 26 | 9 Pred
8-1] 4 Wi ="TH 26 | 10 SRl
8-1| 5 Kik=TH 26 | 11 Pred
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10 Hh 2% (i B N
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B e
10 | 3 Wi ="TH 27 1 SRl
10 | 4 Kik=TH 27 | 2 Pred
10| 5 Wi ="TH 27 | 3 SRl
10| 6 Kik=TH 27 | 4 Pred
10| 7 Wi ="TH 27 | 5 SRl
10| 8 Kik=TH 27 | 6 Pred
10 ] 9 Wi ="TH 27 | 7 SRl
10 | 10 Kik=TH 27 | 8 Pred
10 1 Wi ="TH 27 |1 9 SRl
10| 2 Kik=TH 27 | 10 Pred
Y ="TH 29 4 |EEB1055:5E3 I L W TH IR R
6 | 10 Kik=TH 29 | 21 Pred
4 | 20 Wi ="TH 30 | 8 SRl
5-1 1 | 2-1 SE=TH 31 | 6 PR
5-1 | 1 | 1-2 Wi ="TH 31 7 SRl
3 1 3 Kik=TH 31 | 8 Pred
3 1 2 Wi ="TH 311 9 SRl
3 1 1 Kik=TH 31 | 10 Pred
5-1 | 1 | 2-4 Wi ="TH 31 | 16 SRl
5-1 1 | 2-3 SE=TH 31 | 17 PRBE
5-1 | 1 | 22 Wi ="TH 31 | 18 SRl
5-1 1 | 1-1 SE=TH 31 | 19 PR
Y ="TH 33 4 |EEB1055:5E3HIC L W TH IR R
68 | 1 iR T H 1 16 Pred
ST B 2 4 |EEB1055:5E3HIC L W FTH IR R
WD T H 4 | 1 | EELI055E DEIC X Y A KRR
ST B 4 3 [TEEZBL0554ER 1T & Y BT Medm
ST B 4 4 [HEF 1065 B3I & 0 BT HE IR
ST B 4 b [{EZBL055ER1IHIC & Y BT #edm
ST B 4 6 |[HEFI065EBIHEIT & 0 FrA MR
ST B 4 7 [{EZB1055EE3 T & Y BT M dm
ST B 4 8 |HEF 106553 I & 0 BT A #E IR
ST B 4 9 [IEHLI055RMIHIC &V T AR
ST B 4 10 | B 1065553 HIC & Y BT A HENR
ST B 4 11 [{£251055883 1T & Y BT M)
ST B 4 12 | B 106553 HIC & Y BT A HENR
ST B 4 | 13 [IEZB1055EIHEIC &V Fr A telm
ST B 4 14 | HEH 106553 HIC & Y BT A HENR

41




|H T 2 ) FE 3%

10 Hh 2% {2 i .
WT4 SUT54n | M | B | B | il [ A% | T4 Uds4n | i | A& e
ST B 4 | 15 [IEEB1055EE3HEIC &V T telm
PRl T H 4 | 16 |IEBB105553HIC LV A HEN
ST B 4 | 17 [IEEBL055B1IEIC & v T telm
ST B 4 22 | MEHE1065RF3HIC LV T A MR
3l Ut 4 | 24 |IESB106RHEIHIC LV BT AR
iR T H 4 | 25 |IEEBB10545E3HIC LV A HEN
3l Ut 4 | 26 |IEEB106RHEIHIC XLV BT AR
BT B 4 27 | B 1065RFHIC L 0 T A MR
3l Ut 4 | 28 |IEEB106RHESIHIC XLV BT A HENR
iR T H 4 | 29 |IEBB10545E3HIC LV A HEN
3l Ut 4 | 30 |IEEB106RHEIHIC LV BT A HENR
SRl T H 4 | 31 |IEEB10545E3HIC LV FTAHEN
3l Ut 4 | 32 |IEEZB106RHEIHIC LV BT AR
iR T H 4 | 33 |IEEB10545E3HIC LV A HEN
3l Ut 4 | 34 |IEZB106RHEIHIC LV BT AR
iR T H 4 | 35 |IEEB1054HE3HIC LV A HEN
3l Ut 4 | 36 |IEEZB106RHEIHIC LV BT AN
BT B 4 37 | MEH1065RFIHIC LV T A MR
3l Ut 4 | 38 |IEEB106RHEIIHIC XLV BT A HENR
iR T H 4 | 39 |IEBB10545E3HIC LV HTAHEN
3l Ut 4 | 40 |IEZB106RHEIHIC XV BT A e IR
BT B 4 41 | EEFE106E3HIT KV BT A M m
3l Ut 4 | 42 |IESB106REIHIC X Y BT A e IR
iR T H 4 | 43 |IEBB10555E3HICT LV A HEN
3l Ut 4 | 44 |IESBI06RFIHIC XV BT A e IR
iR T H 4 | 45 |IEBB10555E3HIC LV FT A HEN
3l Ut 4 | 46 |IEZB106RHIHIC XV BT A IR
iR T H 4 | 47 |IEBB10555E3HIC LV A HEN
3l Ut 4 | 50 |IEZB106RHEIHIC XV BT A e IR
iR T H 4 | 51 |IEEBI054HE3HIC LV A HEN
3l Ut 4 | 52 |IEZB106RHIHIC LV BT A e IR
BT B 4 53 | EH1065RFIHIC & T A MR
3l Ut 4 | b4 |IEZBI06RHIHIC LV BT A e IR
iR T H 4 | b5 |IEEB1054HE3HIC LV A HEN
3l Ut 4 | 56 |IEZB106RHIHIC LY BT A IR
ST B 4 57 |MEH1065RH3HIC & v T A HER
3l Ut 4 | 58 |IEZBI06RHIHIC LV BT A e IR
iR T H 4 | 59 |IEEBI055H3HIC LV A HEN
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|H T 2 ) FE 3%

[0 % Rt B .
WT4 SUT54n | M | B | B | il [ A% | T4 Uds4n | i | A&
ST B 4 | 60 |IEZB106RHEIHIC LV BT A IR
SR T [ 4 | 61 |IEE105%E3TEIC X 0 A HeN
ST B 4 | 62 |IEZB106REIHIC XV BT A e IR
SR T [ 4 | 63 |IEE105%E3TEIC X 0 A HEN
ST B 4 | 64 |IEZBI06RHEIHIC XV BT A IR
SR T [ 4 | 65 |IEE105%F3TEIC X 0 A HENR
ST B 4 | 66 |IEZB106RHIHIC LY BT AN IR
SR T [ 4 | 67 |IEE105%E3TEIC X 0 A HENR
ST B 4 | 68 |IEZB106RHEIHIC LV BT A e IR
SR T [ 4 | 69 |IEH105%E3TEIC X 0 A HENR
ST B 4 | 70 |IEZBI06REEIHIC XV BT A e IR
SR T [ 4 | 71 |IES1054EIEIC X 0 T HENR
ST B 4 | 72 |IESB106REIHIC X Y BT A IR
SR T [ 4 | 73 |IES1054EIEIC X 0 T HENR
ST B 4 | 74 |IESBI06REIHIC XV BT AN R
SR T [ 4 | 75 |IEE1054EITEIC X 0 T HENR
42 | 13 3l Ut 5 | 15 R B
38 | 9 BT H 6 | 13 PRBE
38 | 11 ST B 6 14 SRl
38 | 14 iR T H 6 | 15 Pred
37 | 8 2 DT H 7 7 B
37 | 39 iR T H 7| 24 Pred
37 | 35 3l Ut 7 | 25 B
37 | 37 iR T H 7| 26 Pred
37 | 6 DT B 7| 28 R R
37 | 8 1 WM T H 7] 29 Pred
37 | 10 3l Ut 7 ] 30 B
37 | 22 iR T H 7| 33 Pred
37 | 25 3l Ut 7| 34 B
40 | 8 iR T H 8 2 Pred
40 | 1 3 DT H 8 5 B
40 | 1 2 WM T H 8 6 Pred
40 | 1 1 DT H 8 7 R R
34 |1 9 WM T H 12 | 4 Pred
34 | 10 3l Ut 12 5 SRl
WD T H 14 | 4 [EE1055E3EIC k0 TEHEIRIR
23 | 2 DT H 14 | 6 B
23 | 1 WM T H 4 | 7 PR
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[T b2 5 R 3

[0 % Rt B .
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
32 | 14 3l Ut 15 1 SRl
32 | 15 Wi T H 15 ] 2 Pred
32 | 16 3l Ut 15| 3 SRl
32 | 17 WM T H 15 | 4 Pred
32 | 18 3l Ut 15| 5 SRl
32 | 19 WM T H 15| 6 Pred
32 | 20 3l Ut 5| 7 SRl
32 | 21 Wi T H 15| 8 Pred
32 | 22 3l Ut 5] 9 SRl
32 | 23 iR T H 15 | 10 Pred
32 | 24 3l Ut 15 | 11 ESEpel
32 | 1 Wi T H 15 | 12 Pred
32| 2 3l Ut 15 | 13 SRl
321 3 Wi T H 15 | 14 Pred
32 | 4 3l Ut 15 | 15 SRl
321 5 Wi T H 15 | 16 Pred
32| 6 3l Ut 15 | 17 SRl
32| 7 Wi T H 15 | 18 Pred
32 DT H 15 | 19 R R
321 9 WM T H 15 | 20 Pred
32 | 10 3l Ut 15 | 21 SRl
32 | 11 iR T H 15 | 22 Pred
32 | 12 3l Ut 15 | 23 SRl
32 | 13 iR T H 15 | 24 Pred
31 | 16 3l Ut 16 1 ESEpel
31 | 17 WM T H 16 | 2 Pred
31 | 18 3l Ut 16| 3 SRl
31 | 19 WM T H 16 | 4 Pred
31 | 20 3l Ut 6| 5 SRl
31 | 21 Wi T H 16 | 6 Pred
31 | 22 3l Ut 6| 7 SRl
31 | 23 WM T H 16 | 8 Pred
31 | 24 3l Ut 6| 9 SRl
31 | 25 iR T H 16 | 10 Pred
31 | 26 3l Ut 16 [ 11 SRl
31 | 27 iR T H 16 | 12 Pred
31 | 28 3l Ut 16 | 13 SRl
31 | 1 WM T H 16 | 14 Pred
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[T b2 5 R 3

[0 % Rt B .
M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
31 2 3l Ut 16 | 15 SRl
31 | 3 Wi T H 16 | 16 Pred
31 | 4 3l Ut 16 | 17 SRl
31 | 5 WM T H 16 | 18 Pred
31 6 3l Ut 16 | 19 SRl
31 | 7 WM T H 16 | 20 Pred
31 T H 16 | 21 TREF
31 1 9 Wi T H 16 | 22 Pred
31 | 10 3l Ut 16 | 23 SRl
31 | 11 iR T H 16 | 24 Pred
31 | 12 3l Ut 16 | 25 ESEpel
31 | 13 SRl T H 16 | 26 Pred
31 | 14 3l Ut 16 | 27 SRl
31 | 15 iR T H 16 | 28 Pred
30 | 16 3l Ut 17 1 SRl
30 | 17 Wi T H 17 ] 2 Pred
30 | 18 3l Ut 17| 3 SRl
30 | 19 Wi T H 17 | 4 Pred
30 | 20 3l Ut 17| 5 SRl
30 | 21 WM T H 17 ] 6 Pred
30 | 22 3l Ut 7| 7 SRl
30 | 23 Wi T H 17| 8 Pred
30 | 24 3l Ut 17| 9 SRl
30 | 25 iR T H 17 | 10 Pred
30 | 26 3l Ut 17| 11 ESEpel
30 | 27 iR T H 17 | 12 Pred
30 1 3l Ut 17 | 13 SRl
30 | 2 WM T H 17 | 14 Pred
30 | 3 3l Ut 17 | 15 SRl
30 | 4 Wi T H 17 | 16 Pred
30| 5 3l Ut 17| 17 SRl
30 | 6 WM T H 17 | 18 Pred
30 | 7 3l Ut 17| 19 SRl
30 | 8 WM T H 17 | 20 Pred
30 9 3l Ut 17| 21 SRl
30 | 10 iR T H 17 | 22 Pred
30 | 11 3l Ut 17 | 23 SRl
30 | 12 iR T H 17 | 24 Pred
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M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
30 | 13 3l Ut 17 | 25 SRl
30 | 14 PRl T H 17 | 26 Pred
30 | 15 3l Ut 17 | 27 SRl
29 | 13 WM T H 18] 1 Pred
29 | 14 3l Ut 18| 2 SRl
29 | 15 WM T H 18] 3 Pred
29 | 16 3l Ut 18 | 4 SRl
29 | 17 Wi T H 18] 5 Pred
29 | 18 3l Ut 18 6 SRl
29 | 19 Wi T H 18| 7 Pred
29 | 20 3l Ut 18| 8 ESEpel
29 | 21 Wi T H 18] 9 Pred
29 | 22 3l Ut 18 | 10 SRl
29 | 1 Wi T H 18 | 11 Pred
29 | 2 3l Ut 18 | 12 SRl
29 | 3 Wi T H 18 | 13 Pred
29 | 4 3l Ut 18 | 14 SRl
29 | 5 Wi T H 18 | 15 Pred
29 | 6 3l Ut 18 | 16 SRl
29 | 7 WM T H 18 | 17 Pred
29 DT H 18 | 18 B
29 | 9 Wi T H 18 | 19 Pred
29 | 10 3l Ut 18 | 20 SRl
29 | 11 iR T H 18 | 21 Pred
29 | 12 3l Ut 18 | 22 ESEpel
28 | 6 WM T H 9] 1 Pred
28 | 7 DT H 19 | 2 B
28 | 8 WM T H 191 3 Pred
28 | 9 DT H 19 | 4 B
28 | 10 Wi T H 19 ] 5 Pred
28 | 11 3l Ut 9] 6 SRl
28 | 12 WM T H 19| 7 Pred
28 | 1 DT H 19 | 8 B
28 | 2 WM T H 191 9 Pred
28 | 3 3l Ut 19 | 10 SRl
28 | 4 WM T H 19 | 11 Pred
28 | 5 3l Ut 19 | 12 SRl
26 | 11 WM T H 20 | 1 Pred
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M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
26 | 10 3l Ut 20 | 2 SRl
26 | 9 Wi T H 20 | 3 Pred
26 3l Ut 20 | 4 SRl
26 | 7 WM T H 20 | 5 Pred
26 | 6 DT H 20 [ 6 B
26 | 5 WM T H 20 | 7 Pred
26 | 4 DT H 20 [ 8 B
26 | 3 Wi T H 20 | 9 Pred
26 | 2 3l Ut 20 | 10 SRl
26 | 1 Wi T H 20 | 11 Pred
27 | 5 DT B 21 1 R R
27 | 6 Wi T H 21 | 2 Pred
271 | 7 DT B 21 [ 3 R B
27 | 8 Wi T H 21 | 4 Pred
27 | 9 DT H 21 | 5 B
27 | 10 Wi T H 21 | 6 Pred
27 | 1 DT H 21 | 7 R B
27 | 2 Wi T H 21 | 8 Pred
27 | 3 DT H 21 | 9 R R
27 | 4 WM T H 21 | 10 Pred
25 | 12 3l Ut 22 1 SRl
25 | 13 Wi T H 22 | 2 Pred
25 | 14 3l Ut 22 | 3 SRl
25 | 15 Wi T H 22 | 4 Pred
25 | 16 3l Ut 22 | 5 ESEpel
25 | 17 WM T H 22 | 6 Pred
25 | 18 3l Ut 22 | 7 SRl
25 | 19 WM T H 22 | 8 Pred
25 | 20 3l Ut 22 | 9 SRl
25 | 21 iR T H 22 | 10 Pred
25 | 22 3l Ut 22 | 11 SRl
25 | 1 WM T H 22 | 12 Pred
25 | 2 3l Ut 22 | 13 SRl
25 | 3 WM T H 22 | 14 Pred
25 | 4 3l Ut 22 | 15 SRl
25 | 5 WM T H 22 | 16 Pred
25 | 6 3l Ut 22 | 17 SRl
25 | 7 WM T H 22 | 18 Pred
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M4 XX T4 | % | A% [ 49X mikh | A% | 4 adss | i3 | B
25 | 8 3l Ut 22 | 19 SRl
25 | 9 Wi T H 22 | 20 Pred
25 | 10 3l Ut 22 | 21 SRl
25 | 11 iR T H 22 | 22 Pred
24 | 13 3l Ut 23 1 SRl
24 | 14 WM T H 23 | 2 Pred
24 | 15 3l Ut 23 | 3 SRl
24 | 16 Wi T H 23 | 4 Pred
24 | 17 3l Ut 23 | 5 SRl
24 | 18 Wi T H 23 | 6 Pred
24 | 19 3l Ut 23 | 7 ESEpel
24 | 20 Wi T H 23 | 8 Pred
24 | 21 3l Ut 23 | 9 SRl
24 | 22 iR T H 23 | 10 Pred
24 | 23 3l Ut 23 | 11 SRl
24 | 24 iR T H 23 | 12 Pred
24 | 1 3l Ut 23 | 13 SRl
24 | 2 Wi T H 23 | 14 Pred
24 | 3 3l Ut 23 | 15 SRl
24 | 4 WM T H 23 | 16 Pred
24 | 5 3l Ut 23 | 17 SRl
24 | 6 Wi T H 23 | 18 Pred
24 | 7 3l Ut 23 | 19 SRl
24 | 8 Wi T H 23 | 20 Pred
24 | 9 3l Ut 23 | 21 ESEpel
24 | 10 iR T H 23 | 22 Pred
24 | 11 3l Ut 23 | 23 SRl
24 | 12 iR T H 23 | 24 Pred
61 1 DT H 25 1 SRl
61 | 2 Wi T H 25 | 2 Pred
58 | 6 DT H 28 | 1 B
58 | 7 WM T H 28 | 2 Pred
58 DT H 28 | 3 B
58 | 9 WM T H 28 | 4 Pred
58 | 10 3l Ut 28 | 5 SRl
58 | 1 WM T H 28 | 6 Pred
58 | 2 DT H 28 | 7 B
58 | 3 WM T H 28 | 8 Pred
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58 | 4 DT H 28 | 9 R B
58 | 5 Wi T H 28 | 10 Pred
57 | 8 DT H 29 | 1 R B
571 9 WM T H 29 | 2 Pred
57 | 10 3l Ut 29 | 3 SRl
57 | 11 WM T H 29 | 4 Pred
57 | 12 3l Ut 29 | 5 SRl
57 | 13 Wi T H 29 | 6 Pred
57 | 14 3l Ut 29 | 7 SRl
57 | 15 Wi T H 29 | 8 Pred
57 | 1 DT B 29 [ 9 R R
57 | 2 Wi T H 29 | 10 Pred
57 | 3 3l Ut 29 | 11 SRl
57 | 4 Wi T H 29 | 12 Pred
57 | 5 3l Ut 29 | 13 SRl
57 | 6 Wi T H 29 | 14 Pred
57 | 7 3l Ut 29 | 15 SRl
56 | 6 Wi T H 30 [ 1 Pred
56 | 7 DT H 30 [ 2 R R
56 | 8 WM T H 30 | 3 Pred
56 | 9 DT H 30 [ 4 B
56 | 10 Wi T H 30 | 5 Pred
56 | 1 DT H 30 [ 6 B
56 | 2 Wi T H 30 | 7 Pred
56 | 3 DT B 30 [ 8 R R
56 | 4 WM T H 30 | 9 Pred
56 | 5 3l Ut 30 | 10 SRl
55 | 6 WM T H 31 1 Pred
55 | 7 DT H 31 | 2 B
55 | 8 Wi T H 31 | 3 Pred
55 | 9 DT H 31 | 4 B
55 | 1 WM T H 31 | 5 Pred
55 | 2 DT H 31 | 6 B
55 | 3 WM T H 31 | 7 Pred
55 | 4 DT H 31 | 8 B
55 | 5 WM T H 31| 9 Pred
54 | 6 3l Ut 32 | 21 SRl
54 | 9 WM T H 32 | 22 Pred
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54 | 12 3l Ut 32 | 23 SRl

47 | 17 Wi T H 36 | 8 Pred
YR T H 40 | 11 |¥EZB10655E3HIC LV BT A HEN IR

64 | 2 Wi+t TH 1 4 Pred

64 | 3 WA T H 1 21 SRl
IR T B 4 13 [IE51055531EIC L 0 FTA Ml g
WiEH T H 4 35 |05 3THIC X W T A HER B
IR T B 4 | 36 [IEF1055:F3HIZ LV AT A HERE
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Wi=TH 1 1 RFYs+ 45| 972 | 3 I P DX Il o4 2 BT 4 28 B
Wi=TH 1 2 KRyt Hs | 912 | 7 X P DAl S 7 BT 47 2 B
Wik=TH 1 3 RFYEs+H5 | 972 | 5 o P DIl o4 2 BT 47 28 B
Wi=TH 1 4 KRy s+He | 971 | 1 X P DAl 4 2 BT 47 2 B
Wik=TH 1 5 RFYET 45| 970 | 2 I P sl o4 2 BT 4 28 B
Wi=TH 1 6 Ry 1H5 | 970 | 6 X P Al A4 2 BT 47 2 B
Wik=TH 1 7 RFYT 45| 970 | 1 e P Il o4 2 BT 47 28 B
Wi=TH 1 8 KRyt Hs | 970 | 7 X P DAl 4 2 BT 47 2 B
Wik=TH 1 9 RFYET+ 45| 970 | 3 T P Il o4 2 BT 4 28 B
Wi=TH 1| 10 Ry s+H5 | 970 | 4 X P Al S 7 BT 47 2 B
Wi=TH 1| 11 KPR T+ 45| 970 | 5 I P Il o4 2 BT 4 28 B
Wi=TH 1| 12 Ryt 15 | 969 | 7 X P DAl S 2 BT 47 2 B
Wi=TH 1| 13 RFYT+ 45| 969 | 1 I P DIl o4 2 BT 47 28 B
Wi=TH 1| 14 RS+ 15 | 1004 1 X P DAl 4 2 BT 47 2 B
Wik=TH 1| 15 RFYET 45 | 1029 1 e P Il o4 2 BT 47 28 B
Wi=TH 1| 16 Ry T+ 15 | 1029 5 X P DAl 4 2 BT 47 2 B
Wik=TH 1| 17 RFYs+ 45 | 1028 1 e P X Il o4 2 BT 4 28 B
Wi=TH 1| 18 Ry T+ 15 | 1075 2 X P Al 4 7 BT 47 2 B
Wi=TH 1| 19 RFYT+ 455 | 1075 7 I P Il o4 2 BT 47 28 B
Wi=TH 1| 20 Ry s+ 15 | 1074 8 X P DAl 4 7 BT 47 2 B
Wik=TH 1| 21 RFYET 1 H%5 | 1006 3 e P Il o4 2 BT 4 28 B
Wi=TH 1| 22 RS iET+ 45 | 1005 1 X P DAl 4 2 BT 47 2 B
Wik=TH 1| 23 KPR ES1Ti %5 | 1003 o P X Il o4 2 BT 4 28 B
Wi=TH 1| 24 Ry T+H5 ] 999 | 1 X P DAl A4 7 BT 47 2 B
Wi=TH 1| 25 RFYs+Hr | 972 | 4 o P DIl o4 2 BT 4 28 B
Wi=TH 1| 26 KRy s+H5 | 970 | 10 DX P Al A 2 BT 47 2 B
Wik=TH 1| 27 RFY T+ H5 | 969 | 5 I P Il o4 2 BT 47 28 B
Wi=TH 1| 28 Ry T+ 15| 969 | 6 X P Al A4 7 BT 47 2 B
Wik=TH 1| 29 RFPET 1 H5 | 1028 2 e P Il o4 2 BT 47 28 B
Wi=TH 1 | 30 R s+H5 | 1037] 3 X P DAl 4 2 BT 47 2 B
Wik=TH 1| 31 RFYT+ 45 | 1075 1 I P sl o4 2 BT 4 28 B
Wi=TH 2 1 KRy s+H5 | 1010 1 X P DAl 4 7 BT 47 2 B
WIR=TH 2 2 KPP ET 4455 [ 1009 2 PR R I A4 2 BT 4 28 B
Wi=TH 2 3 RS T+ 45 | 1009 1 X P DAl S 2 BT 47 2 B
Wik=TH 2 4 RFYET 45 | 1014 1 I P X sl o4 2 BT 4 28 B
Wi=TH 2 5 KRy 15 | 1016 1 X P DAl 4 2 BT 47 2 B
Wik=TH 2 6 KPP ES1T045 | 1017 I P X sl o4 2 BT 4 28 B
Wi=TH 2 7 Rsifes=+ 15 | 1013 X P DAl 4 2 BT 47 2 B
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Wi=TH 2 8 RFYT 45 | 1025 1 e P Il o4 2 BT 4 28 B
Wi=TH 2 9 KRyt H5 | 1021 1 X P DAl S 7 BT 47 2 B
Wik=TH 2 | 10 RFYes+ 45 | 1021 8 o P DIl o4 2 BT 47 28 B
Wi=TH 2 | 11 R+ 15 | 1020 X P DAl 4 2 BT 47 2 B
Wik=TH 2 | 12 KPP T304 [ 1019 I P sl o4 2 BT 4 28 B
Wi=TH 2 | 13 KRy s+ 45 | 1078 1 X P Al A4 2 BT 47 2 B
Wik=TH 2 | 14 RFYET 145 | 1078 2 e P Il o4 2 BT 47 28 B
Wi=TH 2 | 15 Ry T+ 15 | 1077 2 X P DAl 4 2 BT 47 2 B
Wik=TH 2 | 16 RFYET 45 | 1077 1 T P Il o4 2 BT 4 28 B
Wi=TH 2 | 17 Ry s+ 15 | 1021 6 X P DAl 4 2 BT 47 2 B
Wi=TH 2 | 18 RFYET+ 455 | 1021 5 e P X Il o 2 BT 4 28 B
Wi=TH 2 | 19 KRy 15 | 1021 2 X P Al S 7 BT 47 2 B
Wi=TH 2 | 20 KR es+ 5 | 1012 18 e P X Il o4 2 BT 47 28 B
Wi=TH 2 | 21 KRy s+ 15 | 1012 17 X P DAl 4 2 BT 47 2 B
Wik=TH 2 | 22 RFYET+ 455 | 1012 6 e P Il o4 2 BT 47 28 B
Wi=TH 2 | 23 KRy 15 | 1012] 2 X P DAl 4 2 BT 47 2 B
Wik=TH 2 | 24 RFYs+ 45 | 1012 1 e P X Il o4 2 BT 4 28 B
Wi=TH 2 | 25 KRyt H5 | 1011 1 X P Al 4 7 BT 47 2 B
Wi=TH 2 | 26 RFYs+ 45 | 1021 3 I P Il o4 2 BT 47 28 B
Wi=TH 2 | 27 KT+ 15 | 1021 19 X P DAl 4 7 BT 47 2 B
Wik=TH 3 1 RFYs+m | 951 | 1 e P Il o4 2 BT 4 28 B
Wi=TH 3 2 RFYEF+ U5 | 951 | 2 X P DAl 4 2 BT 47 2 B
Wik=TH 3 3 RFYETH U5 | 950 o P X Il o4 2 BT 4 28 B
Wi=TH 3 4 RFYEF+M 5 | 951 | 7 X P DAl 4 2 BT 47 2 B
BOE =T H 3 5 KFYET+muE | 951 | 14 e P X Il o 2 BT 4 28 B
Wi=TH 3 6 RFYEFAU 5 | 951 | 4 X P DAl S 2 BT 47 2 B
Wik=TH 3 7 KPR T+ | 951 | 6 I P sl o4 2 BT 4 28 B
Wi=TH 3 8 RFYEFA U5 | 949 | 2 X P DAl S 7 BT 47 2 B
Wik=TH 3 9 RFYgs+m5 | 951 | 5 e P Il o4 2 BT 47 28 B
Wi=TH 3 ] 10 RFYEFAUE | 949 | 1 DX P DAl A4 7 BT 47 2 B
BOE =T H 3 | 11 KeyETs+mE | 915 | 8 I P X Il o4 2 BT 47 28 B
Wi=TH 3] 12 RFYET+M5 | 916 | 7 X P Al A4 7 BT 47 2 B
W =TH 3 | 13 RFESRFAMU5 | 915 | 1 e P Il o 2 BT 47 28 B
Wi=TH 3 | 14 RFYEF+ M5 | 901 | 2 DX P Al 4 7 BT 47 2 B
BOE =T H 3 | 15 KFyET+mE | 901 | 3 e P Il o4 2 BT 47 28 B
Wi=TH 3 | 16 RFYEFH U5 | 901 | 1 X P Al A4 7 BT 47 2 B
BOE =T H 3 | 17 RFYETA-TUE | 940 I P Il o 2 BT 4 28 B
Wi=TH 3 | 18 RFYEF+ M5 | 916 | 2 X P Al A4 7 BT 47 2 B
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BE =T H 3 | 19 KFYETA- TR | 948 I P DIl o4 2 BT 4 28 B
Wi=TH 3 ] 20 Rsifes=1-U 5 | 945 X P DAl 4 2 BT 47 2 B
BOE =T H 3 | 91 KFYETA- TR | 946 e P X Il o4 2 BT 4 28 B
Wi=TH 3] 22 RFPfes=+U 5 | 947 DX P DAl A 2 BT 47 2 B
WiIR=TH 4 1 KPP T+ 45| 973 | 5 PR XA b a3 H
RiE=TH 4 2 RFPEs )\ 5 | 601 | 2 DX B X A 3 T
Wik=TH 4 3 RFY T+ 45| 972 | 2 e P Il o4 2 BT 47 28 B
RiE=TH 4 4 KRygis+H5 | 972 | 8 DX B X A b 3 T
WiE=TH 4 5 RedgET/)\ 5 | 601 | 7 DI B I A 2 2 F
RiE=TH 4 6 Ryis++H5 | 971 | 3 DX B X A 3 T
Wi=TH 4 7 RFPETI\ 5 | 602 | 2 X[ 2R P (X3 A A 3 FH Hi
RiE=TH 4 8 RFPfs-)\ 5 | 602 | 3 DX B X I A 3 T
Wi=TH 4 9 RFPETING | 624 | 4 X[ R P (X3 A A 3 FH Hi
RiE=TH 4 | 10 RFPs )\ 5 | 624 | 3 DX B X g 3 T
WIR=TH 4 | 11 KPP+ H5 | 970 | 8 X L XS 8 FH i
RiE=TH 4 | 12 RFPT+H5 | 970 | 11 DX B X A 3 T
BOE =T H 4 | 13 KFYET+H5 | 970 | 12 DI B A 2 2 F
RiE=TH 4 | 14 RFPET+H5 | 970 | 14 DX B X A 3 T
WIR=TH 4 | 15 KPP T+ 45 | 967 | 2 X L XS 2 FH i
RiE=TH 4 | 16 RFPET+H5 | 967 | 4 DX B X A 3
BOE =T H 4 | 17 KFYET+H5 | 970 | 13 DI B I A 2 2 F
RiE=TH 4 | 18 RFggs+H5 | 970 | 9 DX B X I A 3 T
WIR=TH 4 | 19 KPP ET 445 | 969 | 3 X L XS 8 FH i
RiE=TH 4 | 20 RFPET+H5 | 969 | 4 DX B X I A 3 T
WIR=TH 4 | 21 KPP T+ 45 | 968 | 2 X L X 2 FH i
RiE=TH 4 | 22 RFET+H5 | 969 | 2 DX B X I A 3 T
Wik=TH 4 | 23 RFYET 1 H5 | 1004] 2 DI B A4 2 2 F
RiE=TH 4 | 24 RFPET+H5 | 1004 6 DX B X A 3 T
WIR=TH 4 | 25 R eT 455 [ 1004 3 PR XA b a3 H
RiE=TH 4 | 26 RFPET+H5 | 1004 4 DX B X A b 3 T
WiIE=TH 4 | 27 RFYET 1 H%5 | 1004 5 DI B I A 2 2 F
RiE=TH 4 | 28 KT+ H5 | 1007 2 DX B X I A 3
WiE=TH 4 | 29 RFYET 145 | 1008 3 DI B A4 2 2 F
RiE=TH 4 | 30 RFT+H5 | 1030 3 DX B X A 3 T
WiIR=TH 4 | 31 KPP eT 4405 | 1029 4 PR XA b a3 H
K =TH 4 | 32 KRR+ 15 [ 1028] 7 DX TR B IS o 28 Y i
WiIR=TH 4 | 33 RT3 [ 1075 5 PR XA b a3 H
K =TH 4 | 34 RFEWET+5 | 1021 16 X[ R X I sk 2 A P i
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WiIE=TH 4 | 35 KR es+ 5 | 1021 17 DI B I A 2 2 F
RiE=TH 4 | 36 KT+ H5 | 1012] 15 DX R B DA o 2 Y i
WiE=TH 4 | 37 RFYET+ 45 | 1012 9 DI B A4 2 2 F
RiE=TH 4 | 38 KT+ 5 | 1012] 13 DX R B IS o 28 Y i
WiIE=TH 4 | 39 KRFET+ 5 | 1012] 12 DI B A4 2 2 F
K =TH 4 | 40 RFRET+H5 | 1011 3 DX TR B IS o 28 Y i
WiE=TH 4 | 41 RFYEs1 4% | 1010 3 DI B DI A 2 2 F
K =TH 4 | 42 KT IETF+H 5| 1009 5 DX TR B IS 2 28 Y i
WiE=TH 4 | 43 RFYET 1 H5 | 1009 3 DI B DA 2 2 F
K =TH 4 | 44 RFREF+ A5 [ 1009] 4 X[ R B DA o 28 Y i
WiE=TH 4 | 45 RFYEET - H55 | 1009 6 DI B A 2 2 F
RiE=TH 4 | 46 RFET+ 5 | 1014] 2 DX TR B IS o 2 Y i
WiE=TH 4 | 47 RFYT 45 | 1014 4 DI B A 2 2 F
K =TH 4 | 48 RFRET+HH 5| 1014 5 X[ R B DA 2 28 Y i
WiE=TH 4 | 49 RFYET+ 45 | 968 | 3 DI B A4 2 2 F
K =TH 4 | 50 RFRET+HH5E| 967 | 3 DX TR B DI A o 28 Y i
WiE=TH 4 | 51 RFYET 45 | 1014 3 DI B DA 2 2 F
K =TH 4 | 52 RFRIET+HH5 | 1015 2 DX R B IS o 28 Y i
WiE=TH 4 | 53 RFYET 145 | 1016 2 DI B A4 2 2 F
K =TH 4 | 54 RFRET+H5 | 1016 3 DX TR B IS o 28 Y i
WiE=TH 4 | 55 RFYET 145 | 1015 3 DI B DA 2 2 F
K =TH 4 | 56 RFERETFFHEE | 952 | 2 DX TR B IS o 28 Y i
WIR=TH 4 | 57 KRFYET+me | 952 | 5 DI B A4 2 2 F
K =TH 4 | 58 RFEHREF+MH 5| 951 | 3 DX TR B DI A o 28 Y i
WIR=TH 4 | 59 KRFymEs+ma | 951 | 11 DI B DA 2 2 F
K =TH 4 | 60 RFEHFETFFHME 5 | 951 | 10 DX R B DA o 2 Y i
WIE=TH 4 | 61 KFYET+m 5 | 951 | 13 DI B A4 2 2 F
K =TH 4 | 62 RFHREFHME [ 951 | 9 DX TR B DI A o 28 Y i
WIR=TH 4 | 63 KRFYEF+M 5 | 951 | 12 DI B A 2 2 F
K =TH 4 | 64 RTINS [ 952 | 4 DX TR B DI A o 28 Y i
WIE=TH 4 | 65 KRFEYET+MU5 | 949 | 3 DI B I A 2 2 F
K =TH 4 | 66 RFEHRiEF+HME [ 916 | 4 DX TR B DA o 28 Y i
WIR=TH 4 | 67 KRFYEF1-UE | 955 | 4 DI B A 2 2 F
K =TH 4 | 68 KRR EFHH 5| 955 | 3 DX R B DA o 2 Y i
WIE=TH 4 | 69 KFYET+me | 915 | 3 DI B I A 2 2 F
K =TH 4 | 70 KRR ETFFHEE | 9156 | 5 DX TR B IS o 28 Y i
WIE=TH 4 | 71 KRFYEF1-UE | 956 | 4 DI B I A 2 2 F
K =TH 4 | 72 RFHRETFHH 5 | 956 | 3 DX TR B IS o 28 Y i
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Wi=TH 4 | 73 RFYET1 U5 | 898 | 2 D10 5 B Il o A 4 28 B
K =TH 4 | 74 Rsfes=+Us | 898 | 3 DX R B DI A o 28 Y i
WIE=TH 4 | 75 KRFEYET+ME | 915 | 6 DI B A 2 2 F
K =TH 4 | 76 RsPfes=+Us | 899 | 6 DX R B DA o 2 Y i
WIE=TH 4 | 77 KRFYET1-UE | 901 | 4 DI B A4 2 2 F
K =TH 4 | 78 RsYafes=+s | 901 | 7 DX TR B DI A o 28 Y i
WIE=TH 4 | 79 KRFYET+-U 5| 899 | 7 DI B a4 2 2 F
K =TH 4 | 80 Rs¥afes=+s | 901 | 5 DX TR B DI A o 28 Y i
WIR=TH 4 | 81 KRFYET+m5 | 901 | 6 DI B I A 2 2 F
K =TH 4 | 82 RsYafes=+s | 902 | 2 DX TR B DI A o 28 Y i
WIR=TH 4 | 83 KRFYET+me | 902 | 3 DI B a4 2 2 F
RE=TH 4 | 84 R U55 | 910 | 2 DI RS B X o A M4 28 B
WIE=TH 4 | 85 KFYET+me | 910 | 3 DI B I A 2 2 F
K =TH 4 | 86 Rsfes=+Us | 904 | 5 DX TR B DA o 28 Y i
WIR=TH 4 | 87 KRFYET-UE | 904 | 4 DI B A4 2 2 F
K =TH 4 | 88 RFYfes=+Us | 904 | 6 DX TR B DI A o 28 Y i
WIR=TH 4 | 89 KRFYET1-UE | 906 | 4 DI B A 2 2 F
K =TH 4 | 90 Rsfes=+U5 | 906 | 5 DX TR B DI A o 28 Y i
WiR=TH 4 | 91 KPP T [ 909 | 2 PR R A4 2 BT 40 28 B
K =TH 4 | 92 RFPfes=+U 5 | 909 | 10 DX TR B IS o 28 Y i
WIE=TH 4 | 93 KRFYETMU5 | 909 | 9 DI B I A 2 2 F
K =TH 4 | 94 Rsafes=+s | 909 | 8 DX TR B IS o 28 Y i
WIR=TH 4 | 95 KRFYET+MU 5| 907 | 6 DI B A4 2 2 F
K =TH 4 | 96 RsYafes=+s | 907 | 7 DX TR B DI A o 28 Y i
WIR=TH 4 | 97 KRFYEF+M5 | 907 | 5 DI B DA 2 2 F
K =TH 4 | 98 Rsfes=+- 5 | 878 | 15 DX R B DA o 2 Y i
WIE=TH 4 | 99 KFYET1m e | 878 | 18 DI B A4 2 2 F
K =TH 4 | 100 RsPfes=+Us | 878 | 14 DX TR B IS o 28 Y i
WiR=TH 4 | 101 KPP ET- U5 | 877 | 2 e P Il o4 2 BT 47 28 B
K =TH 4 | 102 Rsfes=+U s | 878 | 2 DX TR B IS 2 28 Y i
Wi =TH 4 ] 103 RFYPIRT+U5 | 875 | 2 TR R B X g )
Wi=TH 4 | 104 R+ U55 | 874 | 5 DX B X I A 3
WiR=TH 4 | 105 KPP T+ | 874 | 2 e P Il o4 2 BT 47 28 B
K =TH 4 | 107 Rsfes=+s | 872 | 2 DX TR B IS o 28 Y i
Wi =TH 4 | 108 RFSRTAU5 | 874 [ 7 TR R B X g )
K =TH 4 | 109 Rs¥fes=+Us | 873 | 2 DX TR B IS o 28 Y i
Wi =TH 4 | 110 RFPRTHIU5 | 869 | 2 TR R B X g )
K =TH 4 | 111 KT 7+ =5 | 856 | 4 DX TR B IS o 28 Y i
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WiIE=TH 4 | 112 RFPess1 =7 | 856 | 6 DI B I A 2 2 F
K =TH 4 | 113 RKFRiT+ =5 | 856 | 5 DX R B DA o 2 Y i
WiE=TH 4 | 114 Riges+ =7 856 | 7 DI B A4 2 2 F
K =TH 4 | 115 RFRiET+ =5 855 | 2 DX R B IS o 28 Y i
WiIE=TH 4 | 116 R¥iges1 =7 855 | 3 DI B A4 2 2 F
K =TH 4 | 117 RFRiET+ =5 87| 5 DX TR B IS o 28 Y i
WiE=TH 4 | 118 KRFieT+ =% | 857 | 14 DI B DI A 2 2 F
K =TH 4 | 119 RFRiT+ =5 | 858 | 2 DX TR B IS 2 28 Y i
WiE=TH 4 | 120 KTt =7 854 | 3 DI B DA 2 2 F
K =TH 4 | 121 RFRRF+H =5 854 | 7 X[ R B DA o 28 Y i
WiE=TH 4 | 122 Riges+=7%| 854 | 8 DI B A 2 2 F
K =TH 4 | 123 RFRiT+ =5 | 858 | 3 DX TR B IS o 2 Y i
WiE=TH 4 | 124 R¥es1 =75 858 | 4 DI B A 2 2 F
K =TH 4 | 125 RFRRF+H =5 | 854 | 4 X[ R B DA 2 28 Y i
WiE=TH 4 | 126 KT+ =% 854 | 9 DI B A4 2 2 F
K =TH 4 | 127 RFRiET+H =5 853 | 2 DX TR B IS 2 28 Y i
WiE=TH 4 | 128 R¥iest =7 853 | 4 DI B DA 2 2 F
K =TH 4 | 129 RFRET+ =5 | 854 | 5 DX R B IS o 28 Y i
WIR=TH 4 | 130 KRFYET+ 5| 768 | 2 DI B A4 2 2 F
RiE=TH 4 | 131 Rsifes=+ "5 | 768 | 4 X[ R X I sk 2 A P i
WIE=TH 4 | 132 KRFYims+ 5| 7168 | 3 DI B DA 2 2 F
K =TH 4 | 133 RFRiET+ =5 853 | 5 DX TR B IS 2 28 Y i
WiE=TH 4 | 134 Riges+=7%| 852 | 8 DI B DA 2 2 F
K =TH 4 | 135 RFR 7+ =5 82| 7 DX R B DI A o 2 Y i
WiE=TH 4 | 136 Rgiges+ =7 852 | 6 DI B A 2 2 F
K =TH 4 | 137 RFRiET+ =5 852 | 5 DX TR B A o 28 Y i
WiIE=TH 4 | 138 RFPes+ =% | 851 | 6 DI B A4 2 2 F
K =TH 4 | 139 KRR+ =5 81| 3 DX TR B IS o 28 Y i
WIR=TH 4 | 140 KRFSET+ 5| 792 | 4 DI B DI A 2 2 F
RiE=TH 4 | 141 Rs¥fes+ "5 | 792 | 2 X[ R X I s 2 A P i
WiIE=TH 4 | 142 R¥iges1 =% 851 | 5 DI B I A 2 2 F
K =TH 4 | 143 RFRRF+H =5 81| 7 DX TR B DA o 28 Y i
WiE=TH 4 | 144 KTt =7| 850 | 4 DI B A4 2 2 F
K =TH 4 | 145 KT 7+ =5 | 850 | 6 DX TR B IS o 28 Y i
WiIE=TH 4 | 146 R¥iges1 =7 850 | 3 DI B I A 2 2 F
K =TH 4 | 147 RKFRiET+ =5 850 | 5 DX TR B IS o 28 Y i
WIE=TH 4 | 148 KRFYiEs+ 5| 792 | 5 DI B I A 2 2 F
RiE=TH 4 | 149 Rs¥fes—+ "5 792 | 3 X[ R X I sk 2 A P i
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WIR=TH 4 | 150 KRepdims+ 5| 792 | 6 X o B DI A
WIR=TH 4 | 151 KRy s+ 5| 804 | 3 DX B A o
WIR=TH 4 | 152 KRpiEs+ 5| 804 | 2 X B DI A

Wik =TH 4 | 153 KW+ =7%| 816 | 17 X R A
WiIE=TH 4 | 154 RFPiges+ =% | 816 | 6 X[ PR XIS 8

Wik =TH 4 | 155 KW+ =7| 816 | 16 X R A
WiE=TH 4 | 156 KRFiET+ =5 | 816 | 22 X[ PR X I S 8

Wi =TH 4 | 157 KT+ =% | 816 | 26 DX IR B IS
WiE=TH 4 | 158 KFgies+ =5 | 816 | 27 X[ PR XIS 8

Wik =TH 4 | 159 KEWET+H=%] 816 | 21 X R KBS
WiE=TH 4 | 160 Ries+ =% 816 | 5 X[ B I S 8

Wik =TH 4 | 161 KW+ =% 816 | 23 X R A
WiE=TH 4 | 162 KT+ =5 | 816 | 20 X[ PR XIS 8

Wik ="TH 4 | 163 KW+ =7 816 | 28 X R A
WiE=TH 4 | 164 KT+ =5 | 816 | 29 X[ B XISk 8

Wik =TH 4 | 165 K+ =7% 816 9 X R A
WiE=TH 4 | 166 KT+ =5 | 816 | 30 X[ PR XIS 8
Wi=TH 4 | 167 R¥is+ =% | 816 | 31 DX B A n
WiE=TH 4 | 168 KT+ =5 | 816 | 19 X[ B XIS 8
KIR=TH 4 | 169 BI04 1 TEIZ & 0 T A HER: &
Wik=TH 4 | 170 IEH 10553 HIC X 0 AT HER B
KIR=TH 4 |17 1055 3TEIC & 0 T A HER: &
WiE=TH 4 | 172 IEH 10553 HIC X 0 AT HEIR B
KIR=TH 4 | 173 10559 3TEIZ & 0 T A HER: &
WiE=TH 4 | 174 IEH 10553 HIC X 0 AT HEIR B
KIR=TH 4 | 175 1055 3TEIZ & 0 T A HER: R
Wik=TH 4 | 176 EH 10553 HIC X 0 AT HEIR B
KIR=TH 4 | 177 10553 TEIZ & 0 T A HER: &
WiE=TH 4 | 178 IEH 10553 HIC X 0 AT HER B
KIR=TH 4 | 179 1055 3TEIZ & 0 T A HER: R
Wik=TH 4 | 180 EH 10553 HIC X 0 AT HEIR B
KIR=TH 4 | 181 10553 TEIZ & 0 T A HER: &
WiE=TH 4 | 182 EH 10553 HIC L 0 AT HEIR B
KIR=TH 4 | 183 1055 3TEIZ & 0 T A HER: R
Wik=TH 4 | 184 IEH 10553 HIC X 0 AT HER B
KIR=TH 4 | 185 1055 3TEIZ & 0 T A HER: R
Wik=TH 4 | 186 EH 10553 HIC X 0 I HER B
KIR=TH 4 | 187 1055 3TEIZ & 0 T A HER: R
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RFPfes=1R 5 | 1172 TR 106255201 L 0 1R
RFYETH N5 | 1175 A 106505525012 I 1 TH I
RFYifes=+85 | 1175 LA 1062552101 L 0 1R
RFYETH N5 | 1176 IES 10650552501 L 1 TH I
RIS+t | 1184 TR 1062552101 & 0 1R
RFYET+t5 | 1184 IES 106505521012 L 1 TH I
RS iET+-t4 | 1185 LA 1062552101 L 0 1R
RFYkT+-t75 | 1185 A 10650552101 L 1 TH I
RS+ | 1186 LA 10620552101 & 0 1R
RFYkT+-t75 | 1186 A 106505525012 JL 1 TH I
RS ET+-t4 | 1186 LA 10620552101 L 0 1k
RFYks+-t75 | 1187 IESB 10650521012 L 1 TH I
RS ET+-t4 | 1187 LA 1062552101 L 0 1R
RFYks+-t75 | 1187 A 1065052012 L 1 TH I
RS T+ | 1189 LA 1062552101 L 0 1R
RFYET+-t75 | 1189 A 10650552101 L 1 TH I
RS ET 4t  1189 LA 10620552101 & 0 1k
RFYET+-t75 | 1190 A 106505521012 I 1 TH I
R T4 | 1190 LA 1062055 21HIC L 0 1k
RFYgEs+t5 | 1191 IES 106505521012 I 1 TH I
RS T+t | 1191 LA 10620552101 L 0 1k
RFYEs+t5 | 1191 IESB 10650552501 L 1 TH I
RS ET+t75 | 1191 TR 106255201 L 0 1R
RFYET+t75 | 1193 A 106505525012 I 1 TH I
RIS+t [ 1193 LA 1062552101 L 0 1R
RFYET+t75 | 1193 IES 10650552501 L 1 TH I
RS T+t | 1194 LA 10620552101 L 0 1k
RFYkET+t5 | 1195 A 106505521012 L 1 TH I
RS+t | 1198 TR 1062055201 & 0 1R
RFYkT+-t75 | 1198 IESB 10650521012 L 1 TH I
RIS+t [ 1198 TR 10620552101 L 0 1k
RFYET+t5 | 1224 TEER9BAREEOIHIT & 1 10K
RsPifes=t-t5 | 1224 LI5S BH6HIT L 0 IR
RFYET+t5 | 1224 TEHE955: 6T K 0 THIK
RsPifes=t-t5 | 1224 IEEEIS A6 I L U THIA
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M4 AT 4, | O | B | 0K | mitth | B2 | WT& 34 | % | B i
RFJRTHL5 | 1224 17 IEEE95 B0 TEHIC & 1 TH Ik
Rttt | 1224 18 IEEB95 R FE6 I & 0 4K
RFJRTHL5 | 1226 2 TEHT 1052352 L V) THIR
RepdRist-ts [ 1234 2 IEH 1065552501 & V) THIK
RFPRT+L5 1235 4 IEHT 1052552 L V) THIR
Repdrifes1-t5 [ 1255 3 L1065 552501 & V) TH Ik
RFPRT+E5 | 1255 5 IEHT 1052552 1 V) THIR
Repdrifest-tis | 1255 7 L1065 552501 & V) TH Ik
RFJRT+E%5 [ 1255 8 TEH 10523520 1 V) THIR
KW T+t5 | 1255 13 TR 1055555 21HIZ L 0 THI
RFSiger+t5 | 1265 14 | EF1055F2HIC L 0 1HI&
KW T+t5 | 1255 15 TR 1055555 21HIZ L 0 THI
RFPRT+-L5 | 1255 16 TEHT 1052352 L V) THIR
R s+t5 | 1255 17 TR 1055555 21HIZ L 0 THI
RFEHFRFHL5 | 1255 22 L1065 55 2301 & 0 TE Ik
Repdrifes1-t4 | 1255 23 L1065 552501 & V) TH Ik
RFEFTFHL5 | 1255 24 L1065 55 2301 & 0 TE Ik
KR ETEE | 1256 2 L AUBESE VA N IR
RFPRT+L5 | 1256 3 TEH 10523520 L V) THIR
Repdrist-ti | 1256 4 L1065 552501 & V) TH Ik
RFJRTHL5 1261 2 IEHT 1052552 1 V) THIR
RepdRis1-ts [ 1262 2 L1065 552501 & V) TH Ik
RFJRT+L5 | 1263 2 TEH 10523520 1 V) THIR
RepdRifes1-ts [ 1264 3 L1065 552501 & V) TH Ik
RFPRTHL5 | 1265 2 TEH 10525520 L V) THIR
RepdRies1-t5 [ 1266 3 IEH 1065552501 & V) THIK
RFPRT+L5 | 1266 4 IEHT 1052552 L V) THIR
KR ETEE | 1266 5 IEEE 106555 2201 LV MK
RFPIRTHL5 [ 1267 2 TEHT 1052552 1 V) THIR
RepdRist-ta [ 1272 2 L1065 552501 & V) TH Ik
RFJRT+L5 | 1278 3 IEHT 10523520 L V) THIR
RgsttE5 [ 1279 8 L9556 TEIC K 0 THIR
RFJRT+LE5 1283 4 TEHT 1052552 L V) THIR
RepdRiest-ts [ 1284 2 L1065 552501 & V) THIK
RFJRTHL5 | 1284 3 TEHT 1052552 1 V) THIR
Repdries1-t5 [ 1288 2 L1065 552501 & V) TH Ik
RFJRT+LE5 1289 3 TEHT 1052552 1 V) THIR
KT+ )\ 5 | 1290 2 TR 1055555 21HIZ L 0 THI
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